UNIVERSITY OF SWAZILAND
FACULTY OF SOCIAL SCIENCE

DEPARTMENT OF SOCIOLOGY

SUPPLEMENTARY EXAMINATION QUESTION PAPER

TITLE OF PAPER: RESEARCH METHODS
COURSE CODE: SOC 201

TIME ALLOWED: THREE (3) HOURS

INSTRUCTIONS:

———————————

(1) Answer Any Four (4) Questions
(2) All Questions Carry Equal Marks



QL

Q2.

Q3.

Q5.
Q6.

Q7.

What are the different factors affecting internal validity in a research design?
Explain the difference between history and maturation effects and between
testing and instrumentation effects. _

Outline the various steps in the research process and examine the obstacles faced
by a sociologist in conducting research.

Suppose your sociology lecturer has asked you to carry out a study on
homelessness in the area around Matsapha, which qualitative research technique
would you find most useful in conducting the study? Explain how you would use
the technique to complete the study.

Discuss the importance of carrying out literature review in research.

Define content analysis and describe the units of analysis used in content analysis.
Following are the rankings which three judges gave to the work of ten artists.
Judge A: 5 8§ 4 2 3 1 10 7 9 6
Judge B: 3 10 1 4 2 5 6 7 8 9
Judge C: 8 5 6 4 10 2 3 1 7 9

(@)  which two judges are most alike in their opinions about these artists?
(b)  which two judges differ the most in their opinions about these artists?

Scores on a class test are pormally distributed. For the age group 17 - 21 years the

mean is 75 and the standard deviation is 10. For the age group 22 years and above

the mean is 60 and the standard deviation is 15.

(i) Simphiwe is 18 years old and scores 95 on the test. Express her score in a
standard score and determine her percentile rank. -

(ii))  Simphiwe’s sister Nokuthula is 24 years old and has a percentile rank of
75. How high does she score in relation to her age group?

(i)  Simphiwe’s best friend Nomvula is 20 years old and scores 90. What
percentage of her age category has scored more than Nomwvula?

(iv)  Simphiwe’s second best friend Zinhle is 19 years old. Her percentile rank
in her age group is 40 on the test. What is Zinhle’s score?

Q8. Write short notes any four (4) of the following:

1. Triangulation

2. Focus Group Interviews

3. Mail Questionnaires

4. Web Surveys

5. Primary and secondary data
6. Stages in Field Research
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